Student Handout 2 - Vocabulary Quiz
GDP Using GeoFRED

Multiple Choice - 3 questions

1. Which of the following does not influence the amount of potential GDP in an economy?
a. Quality of labor force
b. Amount of natural resources
c. Technological capabilities
d. Price level

2. An increase in real GDP, after government increases spending on education, would best be explained by which of the following?
a. Quality of natural resources
b. Quality of labor force
c. Legal and cultural institutions
d. Technological capabilities

3. Economy A has a lower potential real GDP than Economy B.  Which of the following might explain this difference?
a. Economy A has a smaller labor force
b. Economy B has less technological advancement
c. Economy A has a more equitable legal system
d. Economy B has fewer natural resources


